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Pg. 2

Part—1/91T-1

Marks — 30 / 3% — 30
AL: THUAMH FA 15 T & | T3 599 HAard 2 | v&s 9w & e 02 3
fFuif@ g | ;

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

ITEUS H Fereha, WRiReRt, shieft aii Sa afeat o ufvan & gd 6 sinad@ R 7
[F €T : 20 915

What is the correct sequence from west to east of rivers : Alaknanda, Bhagirathi,
Kali and Tons in Uttarakhand ?

. [Answer Limit : 20 words]

ITAGUE 1 I 91 Wiferss wrr Afpan aiffs auf w8 ¢ (3o dimn : 20 wsg)
Which physical zone of Uttarakhand receives the highest amount of annual rainfall ?
[Answer Limit : 20 words]

ITIEUE H 17 W@ yad AT & 3767 T a1 A 99t o A feafiee |

[3TC HHT : 20 915g)
Write the name of three thrusts separating the three main mountain ranges in
Uttarakhand. [Answer Limit : 20 words]
HTeTal 93K ! hiH A 98 o A9aTRd Hid & 7 [SEt i : 20 weg]
Which drainage systems drain the Malwa Plateau ? [Answer Limit : 20 words]
R 3 % fafte 1 wraes &1 9w sany | [Se & : 20 I5g]
Name the different types of gauges of Indian railways.  [Answer Limit : 20 words]
W % 9fvaw adia Agml # At au1 & F1 HRU & 7 [Se & : 20 ¥1=g)

Why does the west coastal lowlands of India receive heavy rainfall ?
[Answer Limit : 20 words]

‘ﬁa@ﬁqﬂ%ﬁ’mﬁmﬁ%ﬁﬁm [T T : 20 91
Comment on ‘Mishmi Hills’. [Answer Limit : 20 words]
wfﬁqﬁa"rw%? [T Eim : 20 9] |
What 1s ‘Amindivi’ ? [Answer Limit : 20 words]
THPA Y TR ? [ i : 20 W]
What is ‘Deccan Trap’ ? [Answer Limit : 20 words]
Sa-fafevan i afonfia Hifve | (ST H : 20 W)
Define Bio-diversity. [Answer Limit : 20 words]
YA HAATHTE 7 [ 4T - 20 91
What is white coal ? [Answer Limit : 20 words]
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FArea-Affeen termwt w1 qui iR | [ i : 20 9sg)

Describe Canadian-Pacific Railway.
[Answer Limit : 20 words]

e urd wE 7 | | [Su T : 20 1sg)
What are the ‘Jet streams’ ? [Answer Limit : 20 words]
ey fasm = R ¢ [3a &im : 20 W]
What is earthquake science ?

S [Answer Limit : 20 words]
BT RN R ? | [SoR dim : 20 W]
What is rain shadow region ? [Answer Limit : 20 words]

Part—2 /91T -2

Marks — 50 / 3% — 50I
MAe:  TE I H gﬁllomﬂlaﬁwaﬁaﬁﬁlmm%mosw
fuifa & |

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

g fRufrs e g ? [ Ia T ; 50 ¥ |

What is age pyramid ? [Answer Limit : 50 words]

FATTH 1 gRTiE i | [m%ﬂmzsow]\
Define Watershed. [Answer Limit : 50 words]
TGS & AT HAfearEt 1 qui HIf | [ IO HWT : 50 U |

Describe the tribal habitats of Uttarakhand. [ Answer Limit : 50 words]

FOUTITH 1 2 ? [ I HimT : 50 9T

What is Krishnapatnam ? [Answer Limit : 50 words]
ufeeft o fFa ag A i afim 2 7 [ 3T HHT ; 50 w1 |

How does tl}e Western Ghats differ from the Eastern Ghats ?
[Answer Limit : 50 words]

I o "rae oY Wl hi i o faftrai vaemd s € 2 [ FaC T ; 50 9 |
What methods of rice cultivation are practiced in India ?
[Answer Limit : 50 words]

ufeet STTTEt 3 g STRT H YeHH ITNT <hl W1 % T RV & 7| I HHT : 50 YL |
What are the reasons for the concentration of Jute Industry in Hooghly tract of
West Bengal ? [Answer Limit : 50 words]

iz 3e w1 st fereror G | [ IO HiHT : 50 WIeg |

_Give a short description of Cement Industry. .

[Answer Limit : 50 words] |
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24. | @At E ? 5 [ I T : 50 v1=g )

What are Tsunamis ? [Answer Limit : 50 words]

25. | e v o feogofi <hifsra | [ 3T T : 50 WL |

Comment on El-Nino effect.
[Answer Limit : 50 words]

Part—3/91FT-3
' Marks — 40 / 37 — 40
Me: @ umd et 07 w99 & | 3ngeff 5= 05 el 1 I S |y we & ferg
08 3 fuif@ 7 |

Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 08 marks.

26. | ®uaita TgEl Y fasvand sarge 31 3% afied Hif | [ 3T T ; 125 WIeg |

Give the characteristics of Metamorphic rocks and classify them.
[Answer Limit : 125 words]

27. | ul % wehRt 1 FviA Hiforg | [ Fer Hiwy : 128 95 |
Describe the types of rainfall.

~ [Answer Limit : 125 words]

28. | er-zema v % few % e s aiferfeEt S wsEg R @ T
FTEhT A YT ITET ST | : [ IO i : 125 92 |
Explain the essential conditions for the development of Iron and Steel Industry and
give suitable examples from U.S.A. [Answer Limit : 125 words]

29. | vt fagy s ? 7 WA ® 359 IHTE ST 9V HifT | [ 3T HW : 125 955 |

What is Western disturbance ? Describe its impact on India.
' ‘ [Answer Limit : 125 words]

30. | efew et Tt A T afim feoavft fafae | [ SaHr : 125 I |
Write short note on Indira Gandhi Canal Project. [Answer Limit : 125 words]
31. | sovEves % ‘faspe’ wafm fuft fafay | [ ITH : 125 g |
Write a short note on ‘SIDCUL’ of Uttarakhand. [Answer Limit : 125 words]
3. | feett Sterfera uitEsT w1 Sidw oo srga iR | [ SEH : 125 ¥, |

Give a brief account of Tehri Hydroelectric Scheme.  [Answer Limit : 125 words)
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Part—4 /97T -4
Marks — 80 / 37 — 80

Me: AN HFA 07 9 & | 3nmeff 6= 05 vl w1 IR | v v F forg

16 3 fuifa € |

Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 16 marks.

a1y AateA | ffifa wremsfoat w1 avia hifvig | [ I Him : 250 weg |
Describe the landforms produced by wind erosion. [Answer Limit : 250 words]
wifth qamaE % &9 3§ e, So-faga @ e (@R ) w1 gorers vE
awTeY R o frga wfts 3 v wew A ks Fifd
[ IO EHT : 250 I |
Explain the comparative importance of coal, hydro-electricity and petroleum in the

form of energy and discuss the increasing importance of hydro-electric power.
[Answer Limit : 250 words]

forge 1 vt o viiferes o e | [ SO ; 250 I |

Write a geographical essay on Urbanization in the world. [Answer Limit : 250 words]

ITRREVE & Tt iy yfyr 3 weprt o1 G ol Hifdrg | [ TR HHT : 250 9 |

Describe in brief the types of mountainous agricultural land of Uttarakhand.
[Answer Limit : 250 words]

“fepeft T Y Freafar el % Serarg ) gues B R 17 Rk i |
[ SO HET : 250 W5 )
“Vegetation of an area is an index of climate.” Discuss.
[Answer Limit : 250 words]
TS % ST SUT RE J&Ia: el Td afireTg aeh & i @i g ¢
[ ST &1 : 250 ¥ieg |

Why does the rubber plantations are confined to South India especially Kerala and
Tamil Nadu ? [Answer Limit : 250 words]

I 3 I s faater afasw guwse | #9098 i Esftaetr %1 R YeH

HATR ? [ Fa € : 250 ¥ |
Explain the distributional pattern of Industries in India. Does it provide basis for
industrial regionalization ? [Answer Limit : 250 words]

PCS MAINS-2016




